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32" Write a number for each of the following.
(@) Three crore ffty-three thousand six hundred seven
(b) Fifteen crore nine thousand two hundred forty-two
() Eighty-nine lakh forty-five thousand two hundred seventy-five oaq ad
(@) Nine crore nine thousand nine hundred nine :

(@) Sixty-seven crore
2. Complete the series,
23,45479; 5 23,45,481; M43 ; 50132345484
3. Write the largest and the smallest number of 6 digits. > b - 1,77 9 !
4. Write the smallest number of 7 digits having 3 different digits.. 10,00, 009
5 Write the largest number of 6 digits ending with the digit 5.~ 3,17 14
16" Wite the number name for 22,02,22,222 using the Indian system of numeration.
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7. Round off 4,531 to the nearest 10,100 and 1,000, [0 +4,550 (.
8. Which is greater—3,45,673 or 347,5497 - %, 43,549
97 Whatare the place values of 4 and 6 in 3456779 in the Indian as well as the International

system of numeration? Find their sum and difference,
10. 50 million = 500 lakh

1. A certain number has 4 digits. Each digit is an odd numbey, y
Every digit in the number i different. The smallet gy 1 m':““ of the digits n;':
greatest digit is in the ones place. The hints above describe Mﬁmmbkm'
One number is greater of the two numbers. What s ¢y numbers.
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Simplify the following problems.

(a) 2,800 - 400 x (350 + 50) (b) (32,768 + 64) + 64

(©) 9,210 + 648 + 8 x (2,015 - 999) (d) 892 x 65~ 15 x 632 + 4,709
110,146 + 19) + 2+ 15 x 48 - 440+ 100 (f) 684 + 12 x 132 - 32 + 520 + 10

(9) 91,634 + (3,625 x 4) + 10 - (825 + 5) (h) 80,434 - 69,523 + 6,14,836 - 20,051 x 2

1. Find the sum.

(a) 31,264 + 78,192 (b) 821,04,637 + 35,15,168

(€) 90,23,09,186 + 75,048 (d) 2,54,79,306 + 94,25,815 + 9,999
(€) 27,53,100 + 8,00,36,982 + 99,700 /
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2. Subtract and check your answer. G
(2) 29,687 from 13,06,549 (b)8,21,38,640 from 12,05,19,648
3. Find the product.

(@) 854,120 x 967 (b) 36,548 x 1,324 (©) 9236 x 804 x 75
4. Divide and check your answer.

(@) 21,763 + 79 (b) 608,964 + 281 (©) 92,47,01,742 + 1,035

Devesh saved 2 3,950 in the month of April, € 2,684 in the month of May and 2 4,976
in the month of June. Then he spent 2 1,928 to buy his books for the new session and
paid ¥ 2,850 for his swimming classes. How much money is Devesh left with?

A newly established firm purchased the following items: 2 refrigerators for 2 1,35,460;
26 chairs each costing 2 1,375 and 2 cars each costing ¥ 4,25,715. How much money

did the firm spend in all? If a table costs ¢ 800, how many tables can it purchase with
2229720

Simplify the following problems.

(@) (9,642 +2) x 5 - 2,500 - 6,489 (b) (352 % 6) + 8 - 748 + 4 + 1,024 - 900

(€) 9,999 - (8,888 + 8) x 4 - 5,555 (d) 6,485 + 2,10,500 - 1,00,608 + 975
(e) (2,832 +12) + 4 + 241 - 256

8. Fill in the blanks.

(a) 928 x (364 + 1,029) = ( x 264 )+ (92ax JOFT
(b) 6,543 + 1=

. The property used here is
() 91,446,750 + 1,000 will give the quotient

(d) 26713 x 876 x 0 =

(e) 715836 x200=_"_

(f) 40518 +0 =

-




